Date: Friday 03 Sep 2021

BSUoS Charge Estimate: £4.18/MWh Dally BalanCIng COStS natiOnalgrid

Total Outturn: £4.50m

M Energy Imbalance
BM Cost (Indicative) H Positive Reserve (Op Res + STOR)

M Negative Reserve (Footroom)

£2.61m
i Frequency Control (Response + Fast Reserve
M AS Cost (Estimate) £0.01m q Y (Resp )
m Other Reserve (Ancillary Costs Only)
m Constraints (BM & Trades only)
m Other (Reactive + Black Start + BM & AS General)
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SBP/SSP Vs NIV 03-Sep-2021
g M 1300 -0 Commentary
@ ﬁgg 1 A mostly short market throughout the day, with intermittent long peaks during the early hours and between the
o " 1000 1 t 250  afternoon to early evening. 400MW of Non-BM Fast Reserve was required between 7am and midday, rising to
. 900 4 452MW over the mid morning period. Another 40MW of Non-BM Fast Reserve was needed over the late evening.
v & o 8007 | 00 109MW of STOR was run over midday and 115MW of STOR over the late afternoon. Some Interconnector Trades
' § Zgg 1 for Margin required between 5am and 6am.
500 1 | 150 S Overnight Trades fqr RoCoF. 'Some BM Action alleviated thermal import constraints in Scotland over rr_udday to mid
" ‘3188 ] % afternoon. Some brief BM Action needed for thermal export constraints in the North of England after midday.
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